Muster: free-02-2010

7.76x7.26 cm |4 wechsel.  [VNERHOVONEHV)[OR=RH0 0[] 03-R:255,G:255,8:255
1800 stiche. |Garn: 4.89 m  [0pZsH0[0]oR € Py = 22| 04-R:218,G:037,B:029

05-R:000,G:146,B:063

Skalieren: 100% 01)

N:01

(R:000,G:000,B:000

02)

N:05

(R:000,G:146,B:063

03)

N:04

(R:218,G:037,B:029

04)

N:02

(R:000,G:147,B:221

05)

N:03

(R:255,G:255,B:255

)
)
)
)
)

Muster sequenz information (Wechsel, Stops e.t.c) :

01) N:01 (R:000,G:(02) N:05 (R:000,G:103) N:04 (R:218,G:(04) N:02 (R:000,G: LB HICEN(zH-LLHER




